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 # r02-1Cl 94 SC 94.3.12.3 P 515  L 41

Comment Type E
Wrong use of units. 1 us should be 1 <greek mu>s

SuggestedRemedy
Replace 1 us with "1 <greek mu>s"

REJECT. 

This comment is not against a changed portion of the draft, a portion of the draft affected 
by changes, or a portion of the draft that is the subject of unresolved comments associated 
with "Disapprove" votes. It is therefore out of the scope of the recirculation ballot.

This comment will be passed on to the publication editor for consideration during 
preparation for publication.

Comment Status R

Response Status C

Hiertz, Guido Ericsson AB

Response

 # r02-2Cl 94 SC 94.6.4.3 P 537  L 33

Comment Type E
Wrong use of units. 1 us should be 1 <greek mu>s

SuggestedRemedy
Replace 1 us with "1 <greek mu>s"

REJECT. 

This comment is not against a changed portion of the draft, a portion of the draft affected 
by changes, or a portion of the draft that is the subject of unresolved comments associated 
with "Disapprove" votes. It is therefore out of the scope of the recirculation ballot.

This comment will be passed on to the publication editor for consideration during 
preparation for publication.

Comment Status R

Response Status C

Hiertz, Guido Ericsson AB

Response

 # r02-3Cl 64 SC 64.3.5.1 P 326  L 18

Comment Type E
Wrong use of units. 1 us should be 1 <greek mu>s

SuggestedRemedy
Replace 1 us with "1 <greek mu>s"

REJECT. 

This comment is not against a changed portion of the draft, a portion of the draft affected 
by changes, or a portion of the draft that is the subject of unresolved comments associated 
with "Disapprove" votes. It is therefore out of the scope of the recirculation ballot.

This comment will be passed on to the publication editor for consideration during 
preparation for publication.

Comment Status R

Response Status C

Hiertz, Guido Ericsson AB

Response

 # r02-4Cl 76 SC 76.3.3.4.2 P 639  L 11

Comment Type E
Wrong use of units. 1 us should be 1 <greek mu>s

SuggestedRemedy
Replace 1 us with "1 <greek mu>s"

REJECT. 

This comment is not against a changed portion of the draft, a portion of the draft affected 
by changes, or a portion of the draft that is the subject of unresolved comments associated 
with "Disapprove" votes. It is therefore out of the scope of the recirculation ballot.

This comment will be passed on to the publication editor for consideration during 
preparation for publication.

Comment Status R

Response Status C

Hiertz, Guido Ericsson AB
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